ERLKR—k
AFE LT

Fa3EBEVEVLLXEFEFR KRS
SFI5ESH13~14H
A A7) —F #1546

ROUND1-GT
JEAE 4 Hi BT & % TEC _ ATH Total
JR [ S = FLyTEw: (S Vgt B 16.66 7.20 23. 86
2 xR #E EISEN A Vg2 B 16.10 7.02 23.12
3 (i vk Y —x S B, 16.10 6.90 23. 00
4 |[EE OFEDY itk e HBE 15.68 6.60 22. 28
5 |WERRIR  ELAR Sk 2 A TR A 14.42  6.12 20. 54
6 [RAE Bk < HE S 2 B 14.28 6.18 20. 46
T |PERE ZEAR e B BAE Y SV )]=1 13.86  6.12 19. 98

ROUND1-G2
NEAE 4 Hi BT & % TEC  ATH Total
1 |k B3 < HIE S Vg2 B 16.80 17.26 24. 06
2 | R Bl ES Vg2 LB 15.68 6.72 22. 40
3 [iEK HDY OB A g B 14.84 6.54 21. 38
4 | A C 3= 4 iV g2 LB 14.14 6.00 20. 14
5 (MH B 7585 g B 14.00 6.00 20. 00
6 ik DV FERE Y S Bk 13.72 5.82 19. 54




ERLKR—k
AFE LT

Fa3EBEVEVLLXEFEFR KRS
SFI5ESH13~14H
A A7) —F #1546

ROUND1-G3
JEAE 4 Hi BT & % TEC _ ATH Total
1Rk B S EEaiC] egg B 15.96  6.90 22. 86
2 |EiE B ap—2 R M= 15.96 6.78 22.74
3 |EE B AE i Vg2 B 15.96  6.72 22. 68
4 [EAR KHE A e HBE 15.54 6.66 22. 20
5 (A EAH ek A e 14.70 6.36 21. 06
6 |[ex AR L < HE S Wi =B 14.28 6.18 20. 46
7T ER B SRR g B 13.72 5.88 19. 60

ROUND1-G4
JEAZ 4 Hi BT & % TEC  ATH Total
N PSS IS REER . BISTE S =t 16.10 6.90 23. 00
2 |[MHh EEA AE i Wgg = B 14.28 6.36 20. 64
3 (BAR WAy F5ELE g Rk 14.00 6.00 20. 00
4 =W AE S5 HE S gt =B 13.72  6.06 19.78
5 [P = Bl ES 2 H B 13.58 6.06 19. 64
6 | Kl EHN B BES A 13.30 5.70 19. 00




